What type of |""-l‘-r";.-" motor vehicle or combination:

(0 travel at a maximum speed of 80 km/h?

nly vehicles Lallying gou ds which hr‘-_-ln|'||_| lo the government

B. An articulated motor vehicle of which the gross combination ma
ractor exceeds 9 000 kg.

C. Any heavy motor vehicle carrying goods




e remaining: 19:55
You are caught in slow-moving heavy traffic in the right lane of :
The car in front of you would like to turn right into a driveway. I
is waiting as oncoming traffic is heavy. What should you do?

a1l
0L

|
|
|

1d

A. Switch on your left indicator and move Into the left lane

B. Wait behind the car until you get an opportunity to pass on the lef
proceed.

c

b

Hoot and pass to the left







determined by means of the two sel







Your vehicle's headlights must be switched on ...
(1) at any time of the day when you cannot see persons and vehic!
of you

(1) from sunset to sunrise.

(i) when it rains and you cannot see vehicles 100 m in front of you
SELECT THE CORRECT COMBINATION.

A. Only (i) and (ii) are correct

B. Only (n) Is correct

. C. All of the above are correct

~ Review Queslions




[

tances on the roadway are not normal

of the road do not apply




<.m

Which statement is true?

\ay only drive a motor vehicle in such a w
Ve noise In dan lllthtll dlea.

B. A person may only drive a motor vehicle in such a way that
esSive noise outside a built up area.

C. No person shall operate a vehicle on a public road in such a
cause excessive noise.




I the stop line and g
1 the right




B

» (ear lever must be left
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‘remaining: 22:16

The lights of your vehicle parked on a public road betwee)

need not kept lighted when the vehicle is parked ...
() 10 m from a lighted street lamp.

(i) next to the roadway of the road.

(1) in a demarcated parking area.

SELECT THE CORRECT COMBINATION

A. Only (i) and (iii) are correct
B. All of the above are carrect

C. Only (u) and (iii) are correct

Review Questions |




Urve|




remaining: 18:51

p. turn left at th

yehicie.






in moton a drivel

cell phone provided the driver keeps a







e remaining: 17.50

g one would usually find the following Sigh «

1efore this road markin

A. a marked pedestrian crossing ahead.




i@ remaining: 17:40

/hat type of brakes must be fitted on a heavy motor vehicle?

A. Semnice

B. Parking brake only




which the gross vehicle mass does not exceed 10000 kg

| to Tit yellow rellective matenal to the vehicle
————_—_.___
|!.-I.I||-r '”.'l".'lf‘l”‘l [|||'|'|||:r|' r||‘||rll:|'l".|||'_"- | il

_
. llow reflective material to the sides an




[ime remaining: 22:58

When control number 9 IS used, the dist
tostopitis...
(i) longer on a wet road than on a dry road.

(i) longer if the vehicle is travelling at a higher speed.
(1) longer if the vehicle is loaded.

ance It takes the driver of a |

SELECT THE CORRECT COMBINATION

-

A. None of the above are correct

)
B. All of the above are correct E\.
C. Only (i) is correct

4 Previous Review Questions | . End Te



)urpose of an accelerator?

vehicle in an emerqgency

used to increase or decrease the speed of a vehicl







This sign indicates to a driver that a high speed exit is .. ahead.




ne remaining: 17:18

his road marking tells you that ...

o the road indicated by

A. you may never park nextl
the black armow.




1716

a heavy motor vehicie?

Vhat is the requirement regarding noise caused by

A.A

B. No person
causes EICBS'SNU




Which statement is correct?

neavy molor vehicle may be fitted with a Spot lan p 1O
niis raining

B. A heavy motor vehicle may be fitted with a spot lamp to wai
NVOTKS

C. A heavy motor vehicle may not be used on a public road if it is fitted
spot lamp which can emit a beam of light that can be deflected in an,

Review Questions |



e remaining: 17:11

d to change the direction of the vehicle:

"he following control is use




fuel tank with petrol of inflama

What is the duty of a driver when re-filling the

fuel?

whilst petrol or othet

A. The i

mﬂammable fuel 1S
‘ng traﬂﬁ'el'*l"d 0 the

8. He/she may only
“UElI laﬁh e fuel 1 being

C. Helshe may sta
uans!etred to €




remaining: 10:28

owing distance to

the minimum gafe foll

hen driving @ motor vehicle, what 1S
er vehicle?

\aintain when following anoth




jefore this road marking one would usually find the following sign

A. a marked pedestnan crossing ahead

the lookoul for cyclists

C. \evel crossin




remaining: 18:41
ollowing another vehicle?

d a driver consider when |

rat shoul

ollow at a safe distance and be able to siop the vemcie
hould the vehicle in front slow down of

should f
ation of &

A. The driver
mergency situ

safely inan e




e remaining: 17:00

he appropriate reaction to this sign IS 10 ...

KO2

he road ends

C. slow down and prepare 1o StoP if necessary.

A. stop, as the road IS closed

S




fou may not ...
i) run the engine ol your vehicle unattended.

[ii) use your vehicle w
(iii) spin the wheels of your

SELECT TH

ithout a cap on the fuel tank.
vehicle when pulling off.

E CORRECT COMBINATION

m




b remaining: 19:12
ows that ...

is sign, the driver kn

hen approaching th




e remaining: 17:24

his sign indicates to the driver that there ...

A. are obstructions 10 the road 1 km ahead that

affect the traffic movement

B. are obstruchions |




reason ...

jes that for SOME




'_'__—_—___—_.__—_

e remaining: 16:52 -

"his sign indicates to a driver that a high speed exit is ... ahead.

T
aT—




Jhen is overtaking prohibited?




855

ravel at a maximum speed of 80 km/h?

hicle carmyng goods

wtuch belong to the gﬂ'-'l'_"f'lrl'rirr'. and 1@

A, .F"'-r'l'l' neavy Iminlor e

B. Only yehicles camying goods

police
ulated motof combnation MEss of ruch

C.. An arbc
@ 000 kg

yractof erceeds




5 remaining’ 19.09
he yvehicle that ...

shows the driver oft




e remaining: 18:55

Nhen seeing this sign the driver knows that he/she must ..

A. proceed on the left side of the road

B. keep in the left lane only.

n
f the obstacle on which the sig

C.pass 0 the left o
has been placed.




his sign shows o riders of motor cycles that ...




ning: 19:16

J/hich statement |s correct?

A. A heavy molo

gpot lamp which can




M

e remaining: 16:57

railers of which the gross vehicle mass does not exceed 10000 kg

rear of the

necmemmmmmww

A shall be fitted with yellow re
vehicle




el

8. a goods vehicle may not overtake any ot

vehicle




 remaining; 18 47

for a heavy motor vehicle,

ea learner's licence
you in the vehicle with the same driving

you only hav
ust be someone with

) then there m
cence.
ii) you are

n a freeway.

not allowed 10 drive ©
you In the vehicle.

e allowed with

{il) no pasaenuer: ar
ORRECT EGMBIHATEGH

SELECT THEC




e remaining: 17:37

Nhich of the following statements is correct? A silencer ...




e remaining: 17:32

his type of sign is known as ...

A a regulatory sign

(
B.
C. an information sign.
\



ect the appropriate gear of the vehicie:

e following control is used to sel




e remaining: 17:30

Vhat is the function of a clutch?

rom the transmission.

A.Itis usedlo disconnect the enginé f

g speed of a vehicle

B.ltis used to reguce th




his road marking warns you that

A. you will have \o chan

B. a railway line will be crossi

same level.
this parking area



an urban area?

¢ left edge of the roadway outside

ow far may you park from th




o

an efficient exhaust gilencar whic

eavy motor vehicle must be equipped with

A QDes not have 10 De mantainea, as long as 4 does not make & =
E r||'||.|lf"'l1. 'I_'H':I = LM | f'|'||“r'l1.]||'||:|.|l :II‘I il doe 3 |'|||1 '-||||.'|'I_" 1 .t"'ql'_ L 3t
of smone doas not leak i

i the arhaus! yas
faaic b

11.'1|r1.'l.'runeu thmE
ment ol The ve

. musl be g0 I
mpa

driving cab of passangers td







@ remaining. 1721

Nhat will this road marking indicate to the driver?

gveraking 1s permitted

B. Lanes are
and lane has nght of

a vehicle in the night 1




remaining: 18:44
g off from a stationary positon al the side of the road, what is the

yen movin
sponsibility of the driver?




that ...

This signal indicates

A. this lane 1S for fast moving wraftfic only




@ remaining: 17:18

Mis road marking tells you that ..

o the road indicated by

A. you may nevel park nextt

ihe black arrow

p nexi o the road ovel thate

B. you may nol slo

a road IS under co




@ remaining: 17:13

o select a gear, you must use numbers ...




remaining: 19:22
ate lights must be switched on

vad lamps, reaf lamps and number pi

gunsel and gunfse

g. durni




@ remaining. 1704

When the robot is red and the red arrow flashes to the left as indicated in the
picture, It shows you that ...




hen |s overtaking pruhmtled'-'

e where passing ;O

hing any pi2
direction

from the opposie

A. When approac

approac hing




— T

, remaining: 18:47

a heayy motof vohicle

arner's licence fof
in the vehicie with the same driving

you only have i le
gne with you

then there must be some

ye onad freeway.

ed with you in the vé
ATION

hicle.



@ remaining: 17:42

VK vy Harrismilh I[

A. how much toll you will have o pay
B103 ‘A’ H.]rr:!‘.:-rh :
e

have 10 Q0

way all yehicles

= which




ehicle, what is the minimum gale foll

a motor v
anutnﬂruehmle?

owing

hen driving
aintain when foll




remaining; 18:44
a stationary nosition al the side of the road, what s e

en moving oft from
rmn-s.m-.‘l ity of the driver?

grfera il




e remaining: 17:11

ge the direction ol the vehicie

he following control is used to chan




ne remaining: 17:37

III 5
Ihich of the following statements |8 correct? A sllencer

A need nol be

acceptable

with a small hole 15

nus! bé fitted 0



—

o remaining: 1916




e remaining: 17:16

hat is the requirement lEf_.]i:II'ﬂII'Ig nolse caused by a heavy maotor venicie




|:||'u'_"|'.r:1r__]r;-'upl'lf.a IS NG

A the taking of

I--.H ” "-"1-|.||||| i |
g the intersechion al




me remaining: 17:45

What is the duty of a driver when re-filling the fuel tank with petrol or AT

may not cause of a

fuel is being transfe




wuhu:in'f

ally stop with you

Jhere may you leg




ne remaining: 17:35

| traffic must turn right




fime remaining: 2258

LA - =~ — -
When control number 9 is used, the distance it takes the driver of a

lostopitis ...
(I) longer On a wet road than on a dry road.
[_u_‘_,t longer if the vehicle is travelling at a higher speed.
(1) longer if the vehicle is loaded.

SELECT THE CORRECT COMBINATION

A. None of the above are correct

4 Previous Review Questions J " End Te:

- e



n any othe
el part of he o

[ :|".,."|I_|l"'._j .i':| 2




2 remaInINg: 2231

Which is the correct answer considering this sign?

the red man is glowing it means that
stnans have priority

ans that
3t as fast as

C. When the green man is glowing, pedestrians may
walk a::fnss and when the red nght Is glowing,

Review Questions | End T







e remaining: 17:26

hen a ve ;
hicle is travelling in the right hand lane, as shown In this sign, the

aster than of drive 60 km/h.

A. drive f




1 INe roaaway are |

.||'r||-I not .1|!|.|"r-I




TG 22-16

The lights of your vehicle parked on a public road between sus
need not kept lighted when the vehicle is parked

(1) 10 m from a lighted street lamp.

(1) next to the roadway of the road.

(1) In a demarcated parking area.

SELECT THE CORRECT COMBINATION

A. Only (1) and (iii) are correct

B. All of the above are correct _i'

C. Only (u) and (i) are correct

_ ..-ll Previous Review Questions} =nd Test



__'_——________

e remaining: 16:49 :

Vhen is it permissible to park in a “"no stopping™ area?

rr n o 1'| i G 5 r &N it I:H"”"l.'r"-lt"l
H e O I | D{u:l ﬂ '3 L
A. E:l:i[ kA Iu 1.,. ;]‘FerHEELD‘ H ﬂ"l'il.."uln L! !r

is avallable

B8. Only if no other parking area

s nol pormitied
C. uusnntpumh:ihhhpﬂﬂ""m




s remaining: 19 01
fyer ol @ motor yenc

the distance it takes the dr

hen control number 9 18 used,

y stop LIS ...
i) longer on
i) longer it
(i) longel il




e
@ remaining: 18:25

n the I'{ili!t.|'q'u|'l."l ol & 1:-l.|!'|l.||l.' ron

Jhere a goods vehicle s temporarily gtationary 0
s required that the driver must ..






L

e remaining: 18:59
¢ vehicle parked on d public road between sunse! and sunrise
eed not kept lighted when the vehicle 18 parked ..

a lighted street lamp.



ationary posiion at the side ol the road, what i$ thi

on moving off from a 51
sponsibility

of the driver?

a that

ar must ensul
any direction.

A. The driv
oaching from

waffic app!




> remaining: 1819

Q statements IS correct?

Ihich one of the followin




remnaining: 19:06

y which side of the T«

ydangernng other traffic?

A. A drive! chall drve O




remaining: 18:41

consider when (ollowing another vehicle?

1at should a drivern

gLl

1o slop the ve

af should follow at &
ant slow dlown o

y gituation of shoL




a remaining: 18:19

hich one of the following statements is correct?

A, Pedal cycies are nol permitied on

ol the freewdy

C. padal G



ackground ol temporary signs I8 usually

aw attenuon, the b




— R

e remaining: 18:28

Jhen is overtaking prohibited?

gzard to traflic



@ remaining: 17:35

his road marking warns you that ...

A. you will have o chan

y line will be crossing !

B. a railwa
same level

C. you may not



ne remaining: 17:24

his sign indicates to the driver that there ...

A, are obstruclions \o the road 1 km ahead that

affect the trafiic movement

B. are obstruc




y remaining: 18:47

a heavy motoer vehicle, .

r's licence lof
u in the vehicle with the &

meone with yo

ou only have a learne
yme dnving

then there must be 80



remaining: 18:51

this s\gn, helshe must ..

aen the driver sees




@ remaining: 17.09

ou may not ...
I} run the engine of your vehicle unattended.

i) use your vehicle without a cap on the fuel tank.
(iii) spin the wheels of your vehicle when pulling off.
SELECT THE CORRECT COMBINATION

nd (i1) are not allowed

A. Only (1) @




